Equal 9 step grey scaling betweeh*gan=14.4 andL*g,n=125.1,Ygrei=1.8, normalisation white W

L*0anF14.4, L*0au=69.7, L* 0aw=125.1, Yoan=1.8, Yoaum40.4, Yoanw=180.0,Coay=Yoaw Yoan=99.9
L*taN=22.2,L*1au=70.7,L*1an~125.1,Y;an=3.6, Yiau=41.8, Yian~180.0,Cay=Yiaw: Ytan=50.5

Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 9%= 81, g'y= 74 g%= 96, g%5= 94
L*cieLaB  intended output real output linearized output

n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1109 *a AlL*la
ACH9 1251 1.0 1800 1.0; 1251 1.0 1800 1.0 125.1

120 O : 13.7 12.6
8 111.3 0.875 1321 0731 111.4 0.867 1325 0.877 112.5

3 13.6 12.7
7 974 075 935 0514 97.8 0.734 943  0.753 99.7

90 ! 136 12.9
6 83.6 0625 63.3 0.345 842 0.602 64.4  0.628 86.8

3 135 13.0
@5 697 05 404 0217 707 0.472 418 0502 73.8

60—+ : 13.3 13.1
@+ 559 0375 238 0124 574 0.343 254  0.374 60.7

3 12.9 13.2
@3 421 025 125 006 445 0.217 142  0.246 475

30+ 3 12.1 12.9
@2 282 0125 55 0021 324 0.099 7.3 0.12 34.6

: 10.2 12.4
@: 144 00 18 00} 222 00 36 0.0 22.2

Yoait+Yoref

Yoaw™* Yoref

ol AL* 138 (i=1,2,..,8) | normalisation: Yiaiw=Yoaw

eek60-7n



